

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$
 $f(x) = \frac{1}{\sqrt{x}} \Rightarrow \frac{1}{\sqrt{x}} = \frac{1}{\sqrt{x}} \Rightarrow \frac{1}{\sqrt{x}} = 1 \Rightarrow b = \arctan\left(\frac{1}{\sqrt{x}}\right)$

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$
 $\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$
 $\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$

$f(x) = a([n] + 1) = b([n] + [a]) \Rightarrow (a+b)[n] = (a+b)[a]$
 $\Rightarrow a+b = 0 \Rightarrow a = -b \Rightarrow f(x) = -a[a] = \frac{a[a]}{-a[a]} = -1$

$[n(n-1)] \Rightarrow n=0, n=1, b=0 \Rightarrow y = \frac{1}{n} = \frac{1}{n}$

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$

$a-1 = 1 - \frac{1}{a} \Rightarrow a = 1, \frac{1}{a} = 1 \Rightarrow b = \frac{1}{a}$

$\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$
 $\lim_{n \rightarrow \infty} \frac{a^n (n-1)}{a^n} = 0 \Rightarrow \lim_{n \rightarrow \infty} (n-1) = 0 \Rightarrow n = 1$

۱- عدد a باید تنها ریشه‌ی زیر را داشته باشد و مضرب را هم صفزند!

$$\Delta = 0 \rightarrow (m+3)^2 - 4 \times 4 \left(\frac{m}{r}\right) = m^2 - 4m + 9 = 0 \rightarrow \boxed{m=3}$$

$$\lim_{n \rightarrow a} \frac{\sqrt{4(n^2 + \frac{1}{r})}}{|2n^2 + a^2|} = \frac{\sqrt{4|n + \frac{1}{r}|}}{|2n^2 + a^2|} \rightarrow 2a^2 + a^2 = 0 \rightarrow a = 0 \quad (\text{مخرج صفر نیست و صورت عدد است})$$

$$\hookrightarrow a = -\frac{1}{r} \checkmark \rightarrow \frac{\sqrt{4|n + \frac{1}{r}|}}{|2n^2 + \frac{1}{r}|} = \frac{2\sqrt{r}}{r}$$

$$\frac{2\sqrt{r}}{\sqrt{-(-\frac{1}{r})}} = \frac{2\sqrt{r}}{r} \rightarrow \tan b = \sqrt{\frac{r}{r}} \rightarrow b = \frac{\pi}{4}$$

$$f(2a) = 0 \rightarrow x = 2a \quad \checkmark \text{ ریشه‌ی صورت}$$

$$x = a \rightarrow \text{نقطه‌ی پیوستگی} \quad f(a) = 2 \quad \checkmark \text{ ریشه‌ی مخرج}$$

$$f(n) = \frac{(x-a)(n-2a)}{-(n-a)} = 2 \rightarrow a = 2$$

$$n) = \frac{x^2 - 4n + 8}{-(n-2)} \rightarrow m = -4$$

$$\hookrightarrow n = 8 \quad \sim m - n = 12$$

$$\text{حد مثبت} = (1-a)[2^+] + (3a^2-1)[-2^+] = (1-a)2 + (3a^2-1)(-2-1)$$

$$\text{حد منفی} = (1-a)[2^-] + (3a^2-1)[-2^-] = (1-a)(2-1) + (3a^2-1)(-2)$$

$$\lim_{n \rightarrow 2^+} f(n) = \lim_{n \rightarrow 2^-} f(n) \rightarrow 2 - a - 3a^2 - 3a^2 + 2 + 1 = 2 - 1 - a + a - 3a^2 + 2 = 2$$

$$a - 1 = 1 - 3a^2 \rightarrow a = -1 \quad \checkmark \quad a = \frac{2}{3}$$

$$b \sin\left(\frac{\pi}{r}\right) = -b \rightarrow -b = -\frac{1}{r} \rightarrow b = \frac{1}{r} \rightarrow \boxed{\frac{a}{b} = 2}$$

$$u = a \quad \text{ریشه‌ی صورت} \rightarrow a^2 + a = 0 \rightarrow a = 0 \quad \checkmark$$

$$a^2 + a(n-2) + a^2 = 0 \rightarrow -1 - n + 2 + 1 = 0 \rightarrow n = 2$$

$$\lim_{n \rightarrow -1} \frac{\sqrt{3|-n-1|}}{|n^2+1|} = \frac{\sqrt{3}}{|n^2-n+1|} = \frac{\sqrt{3}}{r}$$

۹

$$\lim_{n \rightarrow +\infty} \frac{n^2 + n}{n^2 + an} = \frac{\cancel{n}(n+1)}{\cancel{n}(n+a)} = \frac{1}{a}$$

$$\lim_{n \rightarrow -\infty} \frac{n^2 - n}{n^2 - an} = \frac{n(n-1)}{n(n-a)} = \frac{1}{a}$$

$$\leadsto f(.) = \frac{2a-1}{2a+1} = \frac{1}{a} \rightarrow 2a^2 - 3a - 2 = 0 \rightarrow a=2$$

$$\rightarrow a = \frac{1}{2}$$

← مخرج همیشه ۰ دارم بنویس! و بهر صورت نیست!

if $a=2 \rightarrow \lim_{n \rightarrow \frac{1}{2}} \frac{n^2 + n}{n^2 + 2n} = \frac{\frac{1}{4} + \frac{1}{2}}{\frac{1}{4} + 1} = \frac{\frac{3}{4}}{\frac{5}{4}} = \boxed{\frac{3}{5}}$